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= 1,779 22 5,847 7.2 11,148 13.6 19,925 24.4
HE 781 18 1,286] 28] 4040 8.1 72868] 164}
R 1,785 23 5,237 6.9 8432 11.0 14,064 184
y N 7,838 28] 26,104 82| 53544 18.8 91,551 322
EE 4,627 25| 14046 75} 25660 137 40950 - 2149
=B 1,761 3.7 3,584 76 6,993 14.9 11,095 255
ik 1,017 37 2,198 3.0 3,980 146 6651 - 244
EmW 419 22 858 45 1,403 75 2978 15.8
BiR 660 2.7 2,348 95 3,651 14.7 6,745 212
il 2,551 40| 5387 85| 11,867 189) 17,802 28.1
freq =2 5,019 41 11,794 96| 25409 206[ 37938 308
i fa 6,049 9.8 14,621 236 22397 36.2 29,042 470
lEs 365 26| 722 52 1,192 86) - 2314 16.7]
= I 169 05 952 2.7 1,769 5.1 8,287 18.0
BiE 1,128 23 3,383 6.9 7,953 16.3 15,291 314
= 661 40 - 1,744 106 3,109 18.8 4815 29.2
128 - 8147 42) 32,025 165| 62,852 324| 86,382 446
kB 833 2.1 4,043 104] 11,305 29.0 15,631 40.i
B 2,233 50 7,050 - 157 12,321 2151 - 17,156 38.3
A 2,114 3.5 7,956 132 15366 25.5 22,277 36.9
x4 1,646 6.5 3,884 153] 8,002 315 11,398 449
=i 2,042 55 4793 130 9,176 249 11,879 323
|ERE 1,751 3.1 7,193 1271 14,578 25.7 23,393 413
8 4,025| 9.2 13,992 31.8] 22257 50.8 26,050 59.2
2Es 142,876 3.0] 432525 80| 821051 171} 1342761 280 |




}
i

4

12,000

—

K

Mean = 1343.2674
gstd. Dev. = 76195965

4,000

3,000~

+




811.00782

144098737

Mean
b Std, Dev.

285,541

N=

4,000+

3,000

1,000+

1679.6983
Std. Dev. = 86936679

N

421,323

| =4
H
o
=

6,000
50004

2000

1,600



—f

*E|

3,000

2,500

=1404,136
gStd. Dev. = 677.88618

Mean

4,000~

4,000




3

wh

1577.8262

369,761

N =

MBS td. Dev. = 1003.49936

B Mean

1800 |,

1,800 mm

1,700
=

1,600
1,500
1400
1300
1,200
~ 1,100
~ 1,000

4,000 "I .

3,000+

1,000

— %

3

5,000~

it



—~

A

5,000

— %

RMean = 17051628 - -

= 782.53703

Std. Dev.

s

3,000+

1,000~

N = 327431

10



1079.19795

813,708

Mean = 1835,3907

N

W Std. Dev, = $33.87448
I Mean = 19117958
470

8,000~ -

—#

BHE

6,000
2,000
6,000~
5,000 -
4000
2,000
1,000~

—#&

T

11



— %

A=

Mean = 22825226
Std. Dev. = 1312.65435

30000
25,000 ~
10,000
5,000~

—f

R

2082.0402
=1221.27122

B Mean =
Std, Dev.

10,000

P

12



—f

;B

Mean = 15275707
Std. Dev. = 766.16591

N

482,415

6,000

5,000

2,000

—#

B

3,000 {

13



1598.1365

225,168

Std. Dev. = BA5.0310%

N

il Mean

2,500 =
1,500
1,000~

00—

2,000+

anl

1,900 4y -

1,800 ¢
<

174427

Mean = 1508.2660

@ Std. Dev, = 823.70244

N

1900

1,800 ¢9
<1,

3,000~
2500

— %

BH

2,000—
1,000
500 -

-4
2% 1,500

14



2500~

T

— s

B H

88271995

379,203

WMean = 1658.4473

N

S Stdl. Dev.

1,900 5y,
1,800 ¢
<

15

1,000

4,000 -l

3500

#r2 000

1,000



—f

I 2

= 99006808

Std, Dev.
_355.926

i Mean = 1644.9557
N

4,000

3.000~

1,000

~—

##

1760.2075
B Std. Dev. = 852.15031

N

[=5,
i
=

7,000—

6,000
5,000
4,000~
3000
2,000
1,000~

- LiLE

16



— i

gagl

15,000~

E D)

—

=E

1780.3048
Std, Dev, = 1264.97508

e
3
=

3,000

2,500

2,000 .

241,500

1,000

500

310424

N =

1,900 i

1,800 ¢
<L

17



— %

R

M Mean = 1855.4883

Std. Dev. = 1095.91487

N <= 198,280

2,000

1,500 °

500

_._ﬁg:'

==
HE

340,048

Std. Dev. = 1084.2896

Mean = 1876.7223

N

1,800 33

1,800 O
«

3000~
1,000

E'z,ono.-—
-

138



— %

K-

# JREE2EE
Bov. = 12105802
i & w1 IE0 Y
Mean = 1850.2931
1003.88857

26000

i
7,000 =
6,000 —
5,000
4,000~
3,000 —
2,000 —
1,000

_ . g

18



838.20253

118,400

133,158

BMean = 1794.8128

Mean = 16762372

Std, Dev.

N

B Std. Dev. = 929.44346

R 1500, , . : . I Rl - 1900,
SRR - 1 500 ¢ RS | 500 ()
= .

1,250=-

— &

R

1,000
750
500~
250
~=fi%
1,400~
1,200~
1.000—
800~
600 -
400~
200—

g . . T

g

2 0



= 1502.2198

Mean

14744734
= 837.54308

101,806

Std. Dev, = 730.08423
129,127

Mean

N

N

1,400

—

BE

1,200

1,000
800~
600
400
200

i

QR Std. Dev.

21

2,000
1,500
500

—8

ik



— %

B L

Mean = 1632.1024
Std. Dev, = 858.19514°

4,000 =

3.000—
1,000

‘348,624

N=

—

K

Mean = 1756.4427
Std, Dev, = 97451326

540,991

6,000

5,000

4000~

Fraooo~ . .

2,000

1,000

1800 ),

1,800 ¢
<

22



— 1

3,000

1,000 -

500+

= 1591.0627
Std. Dev, = 823.28512

N=

5
&
o
=

251,696

—

BE

Mean

= 16566.5423
| Std. Dev, = 885.74015

1,500

1,200

800

L)

600~

300—

113583

N=

1,900 )

1,800 O
<

23



— %

FN

= 1638.8928
Std. Dev. = 932.30284

N = 190,996

AN Wiean

|
i

1,900
1,800
1,700
1,600
1,500

- 1,400
1,300
1,200
1,100
1,000

2,500 —

2,000~

1,500

1,000~
500

Ll
Q0
=<

3,000

24



Mean = 1535.4164

1,500

1.000—

i

500

—

=

10,000 =

25



